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Answer Sheet LISTENING 22
Participant's ID number Item Answer
1 B -
U 12 Al9 |25 |A |5 : B -
) B/
4 /4 —
5 5 e
6 B -
7 i °
8 A +
9 C A
10 B -+
/s
READING USE OF ENGLISH
Item Answer Item Answer
1 B 4 1 eherk he 2
2 A+ 2 Lo
3 Fos 3 v/ +
4 VI 4 it
S A + 5 "
6 B 1 6 o
T B = 7 i
8 . 8 had -
9 A = 9 are -
10 A 2 10 d &
11 (L & 11 =
12 E 12 £
13 C 5 13 h/ﬂ.;& E.
14 B =1 14 £he +
15 e 15 g
16 200 lpgi cal =
/15 17 natioral
18 exactly
19 prolerdion
20 i poss;ble +
o7 —lorderful + P

Y proloni ral T # ok
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Well, ///WMH [snt 4 rery M ch <0 Zhepe _drerd o bt o ﬂéffc%ﬂﬁ D/cw;
Lor Looidn Zopricds o ’visit. Emé 2wy led _pe dell Yoo vt o _ore of 14
ﬁakﬁt{n{e p/aces 1/ /Nr ém/f

The place T gdrg 4o dolk hout J{S/Gé'ff pall _caled . Oos:s Plaza’ 14'<
localed eng,, in Zhe dovpcenire near Zhe  may cf{; square.

The main reacon Ilike i4 is 4had I cap ssw! Fhere w/id) 1y fnm/g £
Lold or faifny. There /s o lwlcogrd vihere W can qe{ wl exmﬂsrré lwc/ or g
to g sm,r;mr(fe{ Where you cay bay mﬂfﬁ 19 yod reed,

Thic place con be ileresling for _f&refgn doarists berause Lhere gre g b of
Skops Where dhoy ol bty thups lite clofhes or “some predessional sttt

g g~k
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